
Simplificar Frac. Impropias (I)Simplifique cada fracción a su mínima expresión en un número mixto.30 = 136 = 630 = 44 =20 40 110 18
112 = 14 = 42 = 160 =32 4 30 50
390 = 312 = 125 = 408 =100 96 50 96
220 = 33 = 88 = 135 =110 27 32 90
108 = 119 = 75 = 130 =36 42 15 30
423 = 126 = 322 = 140 =72 35 77 42
184 = 88 = 16 = 42 =32 80 8 24
54 = 12 = 70 = 190 =12 8 20 50MatesLibres.Com



Simplificar Frac. Impropias (I) RespuestasSimplifique cada fracción a su mínima expresión en un número mixto.30 = 1 1 136 = 3 2 630 = 5 8 44 = 2 420 2 40 5 110 11 18 9
112 = 3 1 14 = 3 1 42 = 1 2 160 = 3 132 2 4 2 30 5 50 5
390 = 3 9 312 = 3 1 125 = 2 1 408 = 4 1100 10 96 4 50 2 96 4
220 = 2 33 = 1 2 88 = 2 3 135 = 1 1110 27 9 32 4 90 2
108 = 3 119 = 2 5 75 = 5 130 = 4 136 42 6 15 30 3
423 = 5 7 126 = 3 3 322 = 4 2 140 = 3 172 8 35 5 77 11 42 3
184 = 5 3 88 = 1 1 16 = 2 42 = 1 332 4 80 10 8 24 4
54 = 4 1 12 = 1 1 70 = 3 1 190 = 3 412 2 8 2 20 2 50 5MatesLibres.Com


